
 

 

 

 

 

 

8th November 2024 
OET Writing – Present Perfect Simple Passive Form 
 

Starter 
 
What's the difference between these two sentences?  
 
 
1. "We have educated Mr Lopez about the importance of a healthy diet"  
 
2. "Mr Lopez has been educated about the importance of a healthy diet"  
 
 
 
 
We use the passive when...  
 
The 'doer' of the action is unknown 
ACTIVE: "Somebody has broken the MRI machine" 
PASSIVE: The MRI machine has been broken 
 
The 'doer' of the action is obvious  
ACTIVE: "The doctor has prescribed metformin" 
PASSIVE: Metformin has been prescribed / Mr Smith has been prescribed 
metformin  
 
The 'doer' of the action is not important  
ACTIVE: "We have decontaminated the equipment"  
PASSIVE: The equipment has been decontaminated 
 
We want to focus on the object of the verb rather than the subject 
ACTIVE: "The nurse has educated Mr Iqbal on healthy exercise"  
PASSIVE: Mr Iqbal has been educated on healthy exercise (by the nurse) 
 
We want to make the sentence sound more formal  
ACTIVE: "The kitchen staff have served lunch to the patients early"  
PASSIVE: Lunch has been served to the patients early / The patients have been 
served lunch early 
 



 

 

 

 

 

 

Using ‘been’:  
 

1. I have been to Paris = visited (gone to and come back) 
2. Laurence has been a good teacher = be (state was true in the past and is 

still true now) 
3. Mr Smith has been prescribed metformin = passive  
4. Mrs Bata has been doing regular exercise = continuous form  

 
 
 
 
Practice: 
 
Mr Adam White is scheduled for a colonoscopy next week and the 
management below is in preparation for this procedure: 
 

 
 
 
What tense should we use for these actions? Present perfect simple because a 
recent past action has a present result or impact (Mr White will understand 
this information and will hopefully act on it) 
 
Should we use active or passive? Why? A mixture depending on who does the 
action 
 



 

 

 

 

 

 

Some example sentences… 
 
Mr White has been advised to cease smoking and reduce his alcohol intake. 
Passive – The action happened to Mr White but the ‘doer’ is not important or 
is obvious 
 
The colonoscopy procedure has been explained to Mr White. 
Passive – The action happened to Mr White but the ‘doer’ is not important or 
is obvious 
 
Mr White has signed the consent form. 
Active – Mr White did the action 
 
 
 
 


